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Numerical Operations: Chapter Test 1

@ The solution to one of the following calculations is the integer, -15. Which one?
a. £-5+-6)-13-7
4 -5+-6-13-7

e € A -54-6-(13-7)

@ Calculate the following and indicate the placement of each integer obtained on the number
line given below.

3 3 8
p 20,8 .3 -2
7 3 5 4

¢ (10.3+6.5-17.3)x-10
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3. Calculate the following. Give your answer as a decimal.

a. 41+2
5

b. 10—%—:-l><2
5 4

¢ lip_4l
5

olve for “x” for each of the following equations. Give your answer as a decimal rounded to
the nearest hundredth.

a. 5x=21.576-7.25

b x _12
" 16 05
. —2x——3—
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@If you start with the integer 2, what is the final integer obtained if you do the following in the
order given:

i. Multiply by -4
ii. Add5

iii. Subtract 9

iv. Divide by 3

v. Multiply by 10.

= '

@ A triangle is drawn such that its sides measure, 20.8 cm, 11.2 cm and 7.94 cm as shown in the
diagram below. You wish to find the measurements of a second triangle such that side MN is
2 times smaller than AB, side NO is 5.6 cm less than BC and side OM is 3.5 cm more than side
CA. What is the perimeter of triangle MNO?

B

7.94(m M

@ In a group of 4000, % are men. It is approximated that % of these men are colorblind. How

many colorblind men would be expected in this group of people?

8./ The student council raised $1000 and wishes to distribute the money to two non-profit

organizations. They give 20% to the SPCA and % to the Mira Foundation. They will keep the

remainder in the budget for next year. How much will be in their budget' next year?

9. Four siblings are given $45 to spend at the movies. The tickets for the movie are $6.25 each.
They all also get a snack of popcorn and soda, which costs them each $3.25. They will split the
money that is left after these purchases. How much money will each sibling get?

@/ You get together with friends to buy a frozen ice-cream cake. The cake costs $12 before taxes.
Once you add the tax of 13.5 % and a tip of 10%, how much will you be paying for the cake?

A A A & A A & & & & & & & & & & & & & & & & & 6. 8 8 8 68 8 84 8 A 8 & 8 A
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Numerical Operations: Chapter Test 2

1. Inorder to claim a prize you need to solve the following skill testing question. What is the
answer to this skill-testing question?

3(-2)-8+2x (3 =1)-(5x4+10)

@ Calculate each of the following and place the integers obtained in ascending order for your
final answer. :

a. 21+21—1—7—

5 2 10
b. 2.5x-4+5.25+3.75
¢ 14+7+3-(10-7)-=2

3. Calculate the following. Give your answer as an irreducible fraction.
a. 1.5x0.32
b. 10.65+15
€. -53+3%--0.8

@ Solve for “x” for each of the followihg equations. Give your answer as a decimal rounded to
the nearest tenth.
x_10
T4 7
b. 22100
X

C. x—-IO=i
4

5. There are 20 people on a bus. At the first stop 2 people get off and 5 get on. At the second stop
5 people get off and 1 gets on. At the third stop 10 people get off and 2 get on. How many
people are on the bus when it arrives at the fourth stop?

6. JAn area is cleared for a new community garden. It will cost $10 for every 8 square feet of land.
If the community garden has an area of 720 square feet, how much would it cost to prepare
the grounds for this garden?

s

7. recipe for brownies shows that % cup of oil is required. To make this recipe healthier,

applesauce is used to replace some of the oil. Only L] of the oil is now actually used. How
P 3 4

many cups of oil were used?
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@ For almost 4000 years, the Great Pyramid of Giza was the tallest freestanding structure in the
Middle East. Now this title is given to the Dubai Towers, which has a height of 829.8 m. If the
pyramid’s height is 17% of the height of the Dubai towers, what is the difference in heigh
between the two structures? Round your answer to the nearest meter. :

@ You have decided to try a new pizza recipe and must purchase some ingredients at the
grocery store. The chart below shows the price of each ingredient and the quantity needed.

How much will this cost if you only buy

the amount needed for the recipe and there is no tax?

Ingredient Cost Quantity Needed
Pepperoni $5.50 for 1 kg lk
)
Pizza Sauce $1.29 for each can 2 cans
Red Peppers $6.00 for 4 1

10. You want to buy a new pair of skates and decide to visit two different sports stores. The first
has a pair for $120 with an 8% discount. Taxes were charged at a rate of 13%. The second
store had the same pair of skates for $130 but they charged no taxes. Which pair of skates

would cost you less and by how much?

54 Chapter 2: Numerical Operations
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A car salesman’s salary can be based on a number of different considerations such as base
salary, number of cars sold, and other bonuses. Some of these are outlined below:

* Base Salary: $15.00 every hour

® Bonus based on profits: ~51— of the profits from selling cars

* Bonus based on cars sold:

Number of cars Bonus for month
Sell between 10 and 13 cars $300
Sell 15 cars $600
Sell 18 cars $900

* Bonus for a car sold on a holiday: $200

amount?

TOOTOTOOOIIIIIIY

' M'ath-HelpuSm‘vines.cnm

This resource can be used for FREE by any teacher / Chapter Test 2 55
student with an active Math Help Services account






) 1



T I3

e = 7.8t
b, x _ 1.2 "
j,(’\?‘? oS b

-2 2 ~Z 2
e, = "O ‘S(’

g;,l—; \b“}b"v‘
\\;\\—_ 1o .5 b cvn
‘ 25 o
\'D_’ \\L L_\‘Vf\
SO V7T S SR |V B
oA = =

-

qooo x L - JOO ime,
S

OO0 x1 = YO pmn.
le ALY AN

o0 X 0.20 = § 2oo
SPCA

looo x 3~ JH28 5T
5— f"’\\ T

| 600
200
y28.5 *

-

(\ewxok"\“‘\% T



Cra |

y
-\
= B
- U



= 10 g10~3$100

K

O ‘ ' \ == \ 9 G o
V\ 2 - :5/ (/U\Sr} (» G \ . |
Q

924,95 % 0.17= | B0-1Bm=Ga

BZ"I.Y
- | 4p-93
=
G 9Tm
@ LA R &,
VEv-dsror -3\ lo
| ). (O
Saa . '-&\;LC\\A?_ —_ﬂfz_sfé/ —-—-—)2,{5
| _\_i._go

A
%ai?gw : ﬂ;\ﬁ, é&\\_S’O’CC\c'\/\: B B[ L(O ﬂ g Ig 7

‘,,\ g



Q\)(\))UV\UQ " W\ Ces So Y300

“’SG\V\ \)’r _ﬂZO()

Ce~s JO

Seser\ o (.zwg-ﬁf ot c.w»(i?c«cx&’, }E‘Qoxé

- 3260
S8 - ﬂ\q éo 00 200 + 200 + 2 (o
- F¢o -
—
j/ | 2L 0

1200 =NS/),
80 \/\O\J\(g :






